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ECONOMICS HSSC-I
SECTION - A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed In the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(iii)
(iv)

V)

(vi)

(vii)

(xii)

(xiii)

{xiv)

(xv)

(xvi)

{xvii)
(xviii)
(xix)

(xx)

For Examiner’s use only:

Economics is a science of which studies?

A Determination of Income B. Optimum use of scarce resources
C. Production D. Exchange of wealth

Which one is not doing an Economic Activity?

A Mother cooking meal at home ‘B One who works for wage

C. One who deposits his savings in a bank D: Government Employee
Anything which is transacted against some price is termed as:

A Comrnodity B. Wealth C. Good D. Service
What do you mean by Scarcity?

A Non-availability of Goods B. Shortage of Goods

C. Supply is less than Demand D. Demand is less than Supply

The goods which establish a very high standard of Living are termed as:

A Necessities B. Comforts

C. Luxuries D. Capital Goods

When Marginal Utility is zero, then Total Utility is:

A Increasing B. Diminishing C. Maximum D. Negative

If total expenditure of a consumer increases with a fall in the price of a commaodity, then elasticity of
demand is:

A Less than unity B. Greater than unity C. Zero D. Infinite

Each point of an Indifference Curve Shows of satisfaction.

A Same Level B. Different Level

C. Numerical Measurement D. Feeling

The value which is variable in real life but is kept constant under some situation is called:

A Parameter B. intercept C. Fixed D. Autonomous
The systematic presentation of data in columns and rows is called:

A Graph B. Tabulation C. Diagram D. Chart

If quantity demanded of a commodity changes because of change in the price of any other commodity
is called:

A Price elasticity of demand B. income elasticity of demand

C. Elasticity of Demand D. Cross elasticity of demand

Average Revenue, Marginal Revenue and Price are equal fo each other, under:

A Mcnopoly B. Perfect Competition

C. Monopolistic Competition D. imperfect Competition

Total variable cost curve starts from:

A Y-Intercept B. X-Intercept C. Origin D. Negative axis
The advantages resulting from the expansion of a single firm are called:

A Economies of Scale B. Diseconomies of Scale

C. internal economies of scale D. External economies of scale

The charges for the use of self-owned resources by the firm are termed as:

A implicit cost B. Explicitcost C. OCpportunity cost D. Fixed cost
The promotion of an Army Officer is: '

A Geographical Mobility B. Horizontal Mobility

C. Vertical Mobility D. Movement of Labour

The reward of which factor of Production is not fixed?

A Capital B. Land C. Labour D. Organizer
The Rent which arises due to short Supply of any factor is:

A Quasi Rent B. Scarcity Rent C. Marginal Rent D. Net Rent
The investor who does not directly participate in business is:

A. Working Partner B. Sleeping Partner C. Organizer D. Entrepreneur
The machine used to increase production is:

A Sunk Capital B. Fixed Capital C. Floating Capital D.  Circulating Capitat

Total Marks: 20

Marks Obtained: l _W
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Time allowed: 2:35 Hours

ECONOMICS HSSC-

Total Marks Sections B and C: 80

NOTE:

Answer any fifteen parts from Section ‘B (a)’ one part from Section 'B (b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet--B if required. Write your answers neatly and legibly.

Note:
Q.

POO
N h

3

(i)
(if)
(iii)

SEC -

Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.

Give any three practical uses of the study of Economics.
Differentiate between Compulsory Savings and Forced Savings.
Complete the following schedule:

Units of Consumption

Total Utility

Marginal Utility

1

20

20

2

15

3

45

4

50

5

0

(15 x 3 = 45)

With reference to Rise and Fall, Contraction and Extension in Demand, identify the nature of change in

demand from:

o P

»

a)
D)
c)

AtoB
BtoC
CtoD

H

D:

What is inductive method of deriving Economic Laws? o
Answer the following questions with the help of diagram:
a) What is market Price?

b) What is short period price?

Quentity Demandad

c) What is long period normal price?

Differentiate between Sleeping Partner and Working Partner?

Define an Indifference Curve. What shape does it obtain?
Differentiate between Cardinal approach and Ordinai approach of consumer satisfaction.

Differentiate between Cross elasticity of demand and Income elasticity of demand with their formulas.
Differentiate between Laws of Returns and Laws of Returns to Scale.
Draw AR, MR and Demand Curves of a firm under perfect competition and monopoly.
Describe three reasons for the negative slope of demand curve.
Draw a diagram to show “market Price Determination” in case of a durable good explaining a rise and fa

in demand.

Complete the table b

calculating Marginal Cost and Average Cost of Production:

Units of Output

Total Cost

Marginai Cost

Average Cost

1

20

?

?

2

80

?

3

120

?

4

160

?

5

170

?
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Quantity demand/supply

(xvi}  See the diagram and answer the following questions:
a) Curve No. 1 represents which kind of cost?
b) Curve No. 2 represents which kind of cost?
c) Curve No. 3 represents which kind of cost?
Differentiate between Nominal Wage and Reai Wage.
What do you understand by Marginal Land?

What is speculative demand for money?

(xx)  Briefly explain three factors affecting productivity of Land?
(xxi)  What is Scarcity Rent?

b. Attempt any ONE part. (1x5=5)

(i) The market demand for a product is 15 at a price of Rs 2/-. If price increases to Rs 3/- then demand
contracts to 12 Derive the functional equation of demand. _ ,
(i) Find equilibrium quantity and equilibrium price with the help of 9iven equations:
Q-10P =40
Q+30P =160

v

Cost of Praduction

(xvii)
(xviii)
(xix)

-

Units of roduction o

ECTION — C (Marks 30
(3x10=30)

Attempt any THREE questions. All question carry equal marks.
Ua MUy MU __MUn

The equilibrium position of consumer is expressed in the given equation £z = "':,—b = = =%

Explain this faw with the help of schedule and diagram. Also state assumptions and limitations of the law.
Define price elasticity of demand. How is it measured?

Explain the law of variable proportions with the help of schedule and diagrams. State assumptions of the Law.
How are price and output determined under monopoly? Expiain with the help of diagram and schedule.
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(xiv)
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